T T

i bl

HINGE

PPERSH

s:
STO

GES ¢
.
CITOR

OR:

A

ELE
0

)OOR:SH

D
ROTARY.D
@SPRING HINGES =

-~

‘I
B VAR A
3 .IA‘ ]
LAY A4 \
g l‘l ]
VAL A /
VALY /
VAT Y ! }
WAY Y
V)
| 13
A L
X
EA Y
YA \
A 1 = -
X I Sy "w

/ @PIVOT/HIN
&4‘0

ALY AR
-~ GHTORI KIK®
\ Y

\'d \ .
D =
\ ‘

e EE RN BN S R N e e vy e

S LSREEEEEEE

el t




2zt FLOOR HINGES

CENTER HUNG Double Action

Model MAXIMUM DOOR
ClauEs Ae (90°)Hold Open | Non-Hold Open | WIDTHXHEIGHT(mm) | WEIGHT (kg) s
WMTIMBER and STEEL DOORS
“ ST—81 T—81 950X2,100 120 5
— — ST—82 T—82 1,050X2,100 200 5
ST—83 T—83 1,200X2,250 250 5
ST—210N T—210N 800X1,800 55 6
: ST—220N T—220N 900X2,100 80 6
90" HOLD OPEN D—22 22 950X2,100 110 6
D—23 23 1,000X2,100 130 6
1001—5 1001 900X2,100 70 7
1002—s 1002 950X2,100 100 7
1003—5 1003 1,050X2,400 120 7
1051—5 1051 900X2,100 70 7
1052—5 1052 950X2,100 100 7
1053—5 1053 1,050X2,400 120 7
ST—33 T—33 1,050X2,100 160 8
ST—335 T—335 1,050X2,400 160 8
ST—44 T—44 1,050X2,400 200 9
ST—45 T—45 1,200X2,400 250 9
ST—46 T—46 1,500X2,700 280 9
SH—30 H—30 950X2,100 120 9
SH—40 H—40 1,050X2,400 185 9
BMTEMPERED GLASS DOORS
ST—181 T—181 914X2.134 120 11
ST—182 T—182 1,067X2,134 200 11
ST—183 T—183 1,200X2,134 250 11
1001—SG 1001—G 762X2,134 70 12
1002—SG 1002—G 914X2,134 100 12
1003—SG 1003—G 1,067X2,134 120 12
ST—133 T—133 1,067X2,134 160 12
D—122 122 762X2,134 110 13
SH—130 H—130 914X2,134 120 13
SH—140 H—140 1,067X2,438 185 13
ST—144 T—144 1,067X2,134 200 12
ST—145 T—145 1,219X2,438 250 12

OFFSET HUNG Single Action HO and NHO, double functions in one bddy.

Model MAXIMUM DOOR
© 542-K~545-K W542K W543K 1543K (90°)Hold Open | Non-Hold Open | WIDTHXHEIGHT(mm) | WEIGHT (kg) | \CE
BSTEEL DOORS
RIGHT LEFT o 542K 950X2,100 70 16
Maximum Opening 180
with 90° HO 543K 1,050X2,200 110 16
544K 1,200X2,300 150 16
545K 1,600X2,400 185 16
ETIMBER DOORS
W542K 950X2,100 70 16
W543K 1,050X2,200 110 16
BTEMPERED GLASS DOORS
1543K | 914X2,134 | 110 | 16




PIVOT HINGES

OFFSET HUNG

MAXIMUM DOOR
iadel WIDTHXHEIGHT(mm) | _ WEIGHT (kg) | "CE
: BOFFSET HUNG
LEifE I 11D 900X2,100 80 19
11CD 900X2,100 80 19
11C 900X2,100 80 19
13CD 1,050 2,200 120 20
13C 1,050 2,200 120 20
2CAD 1,500 2,400 180 20
2CA 1,500X2,400 180 20
3CAD 1,800X3,000 300 21
3CA 1,800%3,000 300 21
11B 900X2,100 80 21
13B 1,050X2,200 120 22
2BC 1,500X2,400 180 22
2B 1,500 2,400 180 22
3BC 1,800%X3,000 300 23
3B 1,800X3,000 300 23
S—4B 4,000%5,000 1,000 23
SW—11D 900X2,200 80 24
SW—11CD 900X2,100 80 24
SW—11C 900X2,100 80 24
SW—11B 900X2,100 80 25
$%¢S-4B is also applicable to maximum door weight up to 1,000kg. Specify if reguired.
CENTER HUNG
MAXIMUM DOOR
etk WIDTHXHEIGHT(mm) |  WEIGHT (kg) | "CE
BCENTER HUNG
S—1AF 900X2,100 100 25
S—1A 900X2,100 100 26
S—2A 1,500 2,400 180 26
S—3A 1,800%3,000 300 27
S—4A 4,000%5,000 1,000 27
$%¢S-4A, is also applicable to maximum door weight up to 1,000kg. Specify if reguired.
CONCEALED type CENTER HUNG Single Action
EFEATURES MAXIMUM OPENING DOOR DIMENTIONS
e Suitable for fire doors ANGLE heee] WIDTHXHEIGHTXDEPTH [WEIGHT (kg)| "ACGE
® Easy to install EWICKET DOOR
® Fully concealed CENTER HUNG 180° LEFTorRIGHT | AH—8K | 800X1,850X36 | 40 | 29
® Qutstanding durability HFIRE DOOR
® Simple speed adjustment AH—8 800X2,000X36 50 29
AH—10 1,000X2,100X40 85 30
AH—12 1,200%X2,100X40 100 30
AH—14 1,400X2,100X40 130 30
Left Right ) AH—16 1,600X2,400X45 160 31
CENTER HUNG 180 AH—18 1,800X2,400X50 200 31
LEFT or RIGHT AH—22 2,200X2,400X50 240 31
AH—26 2,600X2,600X55 310 32
AH—30 3,000X2,600X55 410 32
AH—30H 3,000X2,600X55 510 32
AH—35 3,500X2,800X60 650 33
AH—40 4,000X3,000X65 800 33

Please note that the specifications on this leaflet may be improved without notice.

3



FLOOR HINGES I

CENTER HUNG Double Action

STANDARD SETTING OF DIA FLOOR HINGES FOR WOOD OR STEEL FRAMED DOORS:

Top pivot (upper frame side)

Top pivot (door side)

Arm (door side)

Floor hinge




ST-81-T-81/5T-82-T-82/ST-83-T-83

Thermo Constant All Seasons.
No speed adjustment required between (-10°~50°)

@ Door closure position adjusting screw

@ Door closure position adjusting screw

) oo o Model Maximum Door | Weight
@ Daor moving direction adjusting screw (90°) Hold Open | Non-Hold Open | Widith X Height (mm) | (kg)
@ Door moving direction adjusting screw ST-81 T-81 950X2.100 | 120

® Door closing speed adjusting valve ST-82 T-82 1,050X2,100 | 200

® Door closing speed adjusting valve

ST-83 T-83 1,200X2,250 | 250

Top pivot (upper frame side)

170
826 | 128
|
— I Y 1o
- o —— 04 93§
E—
37 | 139
] R176
18 120 B
ST 4-M5X16 ™
B ] [&\ AT Flat head screw
[N ‘ L ] ™~
0 | e
= N [
|l =i} Ui
#12Hole [H 1 1 ]
Adjustment srew ™\ 4-M6X16 Pan hd. screw with spring washer.
B Dr 125 O O | -
i & |tk &
30 .25 | 25| 25
160 Top pivot U-TI (door side)
3 D.W ‘ T
o
4-M6X30 Hex. soc. screw. Height adjus nhlpiplat o
14.5 Support plate (opt)| 12 ZE
| | | | — :
‘ ! L[ il o © rijrn
{ A B B Bl 9 g S T g]
| T =5, 5 T
!—‘_'—‘—\ F.L o n 21
‘ ‘ r \R1.5
59 ‘ ‘ o
<~
N | ) | W
I 317 163 =
‘ Arm (door side)
—71 ° | @ T
‘ | Height adjustable plate.
2‘4 112
‘ et
| i
S | | B . *@; ﬁﬁf%% |8
| e Ee — = ]
\_L/
22 L 32.5 |, 25 40 40
. 170
e & ReoaRess &
@ ‘ 50 . ]
\ R344 Floor hinge body only (floor side).

Note: For ST-81, 82 and 83 series, the dimension between spindle center of floor plate and vertical frame is 73mm.
Specify if "63mm" is necessary.




ST-210N-T-210N
ST-220N-T-220N

(D Door closure position adjusting screw
@ Door closure position adjusting screw
® Door moving direction adjusting screw
@ Door moving direction adjusting screw
® Door closing speed adjusting valve
® Door closing speed adjusting valve

Model Maximum Door |Weight
(90°) Hold Open | Non-Hold Open | Width X Height (mm) | (kg)
ST-210N | T-210N 800X1,800 | 55
ST-220N | T-220N 900X2,100 | 80

DN

D-22-2
D-23-2

(@ Door closure position adjusting screw
® Door closure position adjusting screw
® Door moving direction adjusting screw
@ Door moving direction adjusting screw
® Door closing speed adjusting valve

Model Maximum Door |Weight

(90°) Hold Open | Non-Hold Open | Width X Height (mm) | (kg)
D-22 22 950X2,100 | 110
D-23 23 1,000X2,100 | 130

Top pivot (upper frame side)

$25

v

=)

!

170
SEN ‘
o
@@@ ~— o441
139 )
R176
4-M5X16 Flat head screw
18, 120 |
$18 4.5 Backplate(Option)
5 i s ~
mi |
B L] [ I
T N A T !
a &I i 1 il o P

3-M5X16Flat head screw

30\ 48

151

D.W

4—MBX30Flat head screw

| | - 4 (
Hil i 4.5
T T Suppoft plate (opt.)

56 i
} 286 ;
' Arm (door side)
113| i 185 i
£ &S )
B N s e sy ,7,73
e e
M‘% 40 ‘ 40
92 | sl o
170
63
298

Floor hinge body only (floor side).

s
=
g
2
g
=z I
g 3
T
3
=
=
S
I
5
2
i ~_R1.5
o
J' <
‘

Heigh( adiu ble plate.

il

=7

¢§

I
) C|

Top pivot (upper frame side)

170
8 26 123
—g@ —o— j— ol §|
mws
4-M5X16 Flat head screw
18, 120
7 $18 14.5 Backplate(Option)
5 ¢ /o~
L mi |
I H Lo I H
L Vil 1 H
&l d (] i] i o i !
#25| | |
18 3-M5X16Flat head screw
il .  Tofwy
o ‘”l
R 16,30 | ‘:21 L4 J Top pivot (door side)
3 D.W
I
4-M6X30 Flat head screw Height adjusfabld plafe. 2
60 B
4.5 Support plate (opt.) _Ei
= . g iy
I i H H © 9 gi ] S]
— 1 FL f [ 1 2
R1.5
59.5
o
8
287 ‘
|
Arm_(door side) 122
/ I Height adjudable plate.
A : ) 8 112
N 5 o BE.
I
™ (=]
22| 325 | 25| 40 40 gJ
& 170 &
63
R298

[4] Floor hinge body only (floor side).




Top pivot (upper frame side) Top pivot U-II 1 001 s 1 001
°
f 170 ‘ 8 € fi
8 _26 128 NS NN
% o o °
é%g{}{}i EI&l g] £12H08) " Adjsiment sirow ‘\4—M6X16§aﬂhd.lgcrewvnlhspvmgwasher
37 139 \ =
R176 R R .
T 25 ‘ 25
18, ) 4-M5X16 Flat head screw 5 @ ®
N ﬁm&&/% 5 Backplate(Option) Note: For article 10035/1003, U1 top pivot is supplied.
' T G T M Lo
R ‘ﬁl t
4 10Hole, 7
. ‘4-5%wmwmsmw
M2 [ 30 2 25
JE o
O To©-of
== Top pivot U- I (door side)
3 s i ® Door closure position adjusting screw
o 4—MBX30Flathead sorow [ gedsiEbleplale. g ® Door closure position adjusting screw
14.5 Support plate (opt.) W2 oor moving direction adjusting screw
% ® D direct djust
: ‘“ ass=w @ Door moving direction adjusting screw
HEH i i | 0 T 0 ) ) )
= © o & [ ‘“1 - ® Door closing speed adjusting valve
[ 1 ol [ 1 - . . .
T \R1.5 ® Door closing speed adjusting valve
52
" Model Maximum Door |Weight
(90°) Hold Open | Non-Hold Open | Width X Height (mm) | (kg)
283 95
I 1001-S 1001 900X2,100 70
Arm (door side) — 1002-S 1002 950X2,100 | 100
ga @ e s 1003-S 1003 1,050X2,400 |120
2
N O] o 8
= al o IE
@ < =
40
63
R306
[4] Floor hinge body only (floor side).
Top pivot (upper frame side) Top pivot U—1II
‘ 170 ‘ 7 o
8 26 128 | ‘ el | ,7, ‘ / N m[ (‘j
’%{}ﬂig@’%j ﬁ] §] SR %‘Mﬂv ‘\d—MGXIEPanhdlgcvww\mspnngvmshsr. 1 51 [ ] . 1 51
757 139 e S 12; - ;gLG;i s
R176 = ‘ p
5, 6;5 - [ | °
18, e alleesy Note: For article 1053S/1053, U-II top pivot is supplied.

RS 1053-S-1053
@ @

$10Hole/| ——— ‘
/‘;.5 Option) 3-M5X16Flat head screw
¢ 5
oloood

- Top pivot U- I (door side)

3 D.W
T pgr
@ 4-M6X30 Flat head screw %@m&& o 3
; 4.5 Support plate (opt.) e @ / \ ®
if o | Lt |
T in]
il 2 g g ] = - _—
i ; - 3 ; e S (D Door closure position adjusting screw
- 1 - et . .
- R1.5 ® Door closure position adjusting screw
2
2 B ® Door moving direction adjusting screw

@ Door moving direction adjusting screw
2 9 ® Door closing speed adjusting valve
® Door closing speed adjusting valve

Arm (dOOI’ side) Door stop must be installed.

) _—T Model Maximum Door |Weight
— o (90°) Hold Open | Non-Hold Open | Width X Height (mm) | (kg)
2 5 — *****'*}*'* 1051-S | 1051 900X2,100 | 70
: ‘ 1052-S 1052 950X2,100 | 100
" @ 1053-S 1053 1,050X2,400 | 120

Single action hinges swing

R306 further 5° from closing

point, so the door stop must

Floor hinge body only (floor side). be installed.




Top pivot U-II

4-M5X16
_/Flat head screw

Top pivot (upper frame side)
] ° ]
170 |

|8 26 128 g [ =
U | Lo aql qF

3 7z a
*% %f R
® *;3763 139 — :le : piznoe Adi““%"'sﬂ :§ O—ESXWganhdlgcrewwmhspvmgwasher
o e = =l
_\ 4-M5X16 Flat head screw T 45 130 \ 25 | 25 \ 25
18, 120 \ 5, 160
418 4.5 Backplate(Option)
5| SILH> ¢ i / ~ "’i Note: For article ST-33, U-I top pivot is supplied.
I H iy [
4T T 7 L * i
& “‘I . Lt} L} I © !
$25
ﬁ %5 Option) 3-M5X16Flat head screw
i } R Tof of
@ \ @ { < LA "{
o 16,30, | ‘:*; L4 Top pivot (door side)
= RICRIRIYOIRICOOISICEN ‘
 Door closure position adjusting screw ‘
@® Door closure position adjusting screw 3 I D.W ‘
I
® Door moving direction adjusting screw o | 4-M6X30 Flat head screw Height adj =
. . . . . [Eom— -2
@ Door moving direction adjusting screw ‘ / 145 Support plate (opt.) 2
® Door closing speed adjusting valve & L
) L =)
® Door closing speed adjusting valve 8 &) - 31 .
[ EL y—‘iA;‘—\ -
Model Maximum Door |Weight %6 | : °
(90°) Hold Open | Non-Hold Open | Width X Height (mm) | (ko) ‘ & | 4
ST-33 T-33 1,050X2,100 | 160 Arm (door side) 134
@
\ Height adjustable plate.
= al 214 112
T |2 :
jall ™ a
22 325 | 25|, 40 40 ‘ & &I
i 70 =)
% iz
63 ‘
R334

Floor hinge body only (floor side).

ST 335 T 335 Top pivot (upper frame side) Top pivot U-II
] ° ]
2 e g 8 @y Aaresiseen

128
HHOE
7 ©
| - O g 8 *L M _ &[E
Qe5 =3 2 :
— #12Hole 1] -
ﬁ— { eMexcs Pan serow it spring washer.

37 139
R176

4-M5X16 Flat head screw

18, 120 .
418 14.5 Backplate(Option)
N ;
| .~> ke e mi | Note: For article ST-335, U-1 top pivot is supplied.
D ! i LT ]
~
&

~
T = T i
d ! i i} i < t i
425
18| 14 5 Backplate(Option) 3-M5X 16Flat head screw

e

- 16150 | ‘:21 L Top pivot (door side) ‘
(D Door closure position adjusting screw ‘
® Door closure position adjusting screw < | iy o
® Door moving direction adjusting screw @ Al PR Nl e 5
@ Door moving direction adjusting screw ‘ 145 Support plate (opt.) A
® Door closing speed adjusting valve o i ”:”:“ ‘ ]
® Door closing speed adjusting valve f o =
R1.5
Model Maximum Door | Weight = | 3
(90°) Hold Open| Non-Hold Open | Width X Height (mm) | (ka) = !
ST-335 T-335 1,050X2,400 |160 Arm_(door side) 134
—_— @ @ Door stop must be installed.

|
& )
N
o
N
R142

22325 | 25| 40 40 ‘
I 70 .

& Single action hinges swing
further 5° from closing
point, so the door stop must

be installed.

R334

[4] Floor hinge body only (floor side).




Top pivot (upper frame side)
T-44-T-44

B oy ST-45-T-45

38 153
R191
136 ] ° ]
#33
4-M6X20 Flat head screw
14.5 Backplate(Option) Oil port (Do not touch.)

R42

/Q

1 ol

ALY
i
I

4.5 Backplate(Option) ;

19
o
2

o
8 e 4L 1
« | oo

60

4-M6X20 Flat head screw

> E

M 108 Top pivot (door side)
- 23, 150
- 173
D.W e i 5
4-MBX30 Flat head screw E ?1"-"2 @ \ @
‘ ‘ ‘ ‘ 4.5 Support plate (opt.) ﬁf, —
i o Ll - A
t I = o . " ‘m[ ( Door closure position adjusting screw
‘ ; = FL of i - ® Door closure position adjusting screw
R1.5 ® Door moving direction adjusting screw
61 '
‘ 2 @ Door moving direction adjusting screw
s | \ ® Door closing speed adjusting valve
1‘72
® ® - Model Maximum Door |Weight
/J\ Arm (door side) Height adjodable plate. (90°) Hold Open | Non-Hold Open | Width X Height (mm) | (kg)
‘ / B e ST-44 | T-44 | 1,050X2,400 | 200
(1 e o z |\ 15 ST-45 | T-45 | 1,200X2,400 |250
E:S/zs v o | o L S ST-46 T-46 1,500X2,700 | 280
; 170 ‘
1 &
63 280
R343

Floor hinge body only (floor side).

Top pivot (upper frame side)
] ° ]

170

8 26, 128
— i H-40-H-40
[.37 1
R176 @
! @
4-M5X16 Flat head screw
! 120 / 14.5 Backplate(Option) }
& %ji i o} |
dd_mmrmm—e— o«
$25 AN
18] 3-M5X16 Flat head screw
4.5 Backplate(Option)
16 300? 48 48 7\779 g{
151 Top pivot (door side)
D.W
| at head screw HSight:fﬂ\ I
|_e0 | 4M6X3:5F'S‘h £ | R 9 @ Door closure position adjusting screw
.5 Suj rt plate it
17”0 st ) @ Door closure position adjusting screw
g S ® Door moving direction adjusting screw
FL 2
b \R15 @ Door moving direction adjusting screw
D ® Door closing speed adjusting valve
R ol to be effected after the plug detached.
Model Maximum Door |Weight
B (90°) Hold Open | Non-Hold Open | Width X Height (mm) | (kg)
S g S SH-30 H-30 950X2,100 |120
Arm (door side) SH-40 H-40 1,050X2,400 | 185
27 I Model A|B|C|DJE]|F]G
mm) SH30 | SH43 SH-30-H-30[ 393 | 172 | 104 | 59 | 406 | 343 | 180
Al 393 | 450 SH-40+H-40| 450 | 184 | 111 | 62 | 460 | 397 | 190
B| 172 | 184
C| 104 | 111
| * D[ 59 | 62
50 E | 406 460
63 F F | 343 397
E G| 180 | 190

Floor hinge body only (floor side).




FLOOR HINGES I

CENTER HUNG Double Action

STANDARD SETTING OF DIA FLOOR HINGES FOR TEMPERED GLASS DOORS:

Top pivot (upper frame side)

Top pivot (door side)

Arm (door side)

Floor hinge

10



ST-181-T-181/5T-182-T-182/5T-183-T-183

(@ Door closure position adjusting screw
@ Door closure position adjusting screw
® Door moving direction adjusting screw
@ Door moving direction adjusting screw
® Door closing speed adjusting valve
® Door closing speed adjusting valve

Thermo Constant All Seasons.
No speed adjustment required between (-10°~50°")

Model

Maximum Door

(90°) Hold Open | Non-Hold Open | Width X Height (mm)
ST-181 T-181 914X2,134
ST-182 T-182 1,067X2,134
ST-183 T-183 1,200X2,134

‘ Top pivot (upper frame side)

! 170
8 26 ‘ 128
O—¢— o aag
37 139
| R176
‘ - 4-M5X16 Flat head screw
1 T ¢ g 4.5 Backplate(Option) |
18
¢ 8Hole i /f@ ~
o " ; b3 &
3 ©
<
4 16Hole
59 47 2-M8X18 Flat head screw
o 1
< s S 0
Hia==(@)EEtE
=5 ‘ Top pivot (door side)
3 | D.W
46 118 4-M8X25 Flat head screw
3 Height adjustable plate.
T 28 18118 36 __ 36 /
§IIII N \ N YIIII I NN J N|
TRISSISNIN R
17 %
z_nf//--/_n////n $
) | e
= F.L S
59 \R1.5
e /
317
= @ DS &

\
\
‘ Arm (door side)

/JT
§
T
Ra
1
|
|

R344 |
Floor hinge body only (floor side).

11



Top pivot (upper frame side)
10015G-1001G
8,[ .26 128
10025610026 -
37 139

° 4-M5X16 Flat head screw
= E0 4.5 Backplate(Option)
4 8Hole N REJ-F FalE / / _
= ! Al 2|
® . e ;
59 47 2-M8X18 Flat head screw
IH=
T
B 70 e
3, D.W
= 18 4-M8X25 Flat head screw
@ Door closure position adjusting screw 3 _Support plate (opt.)
@ Door closure position adjusting screw ,\/
(® Door moving direction adjusting screw :; ¢ ¢
@ Door moving direction adjusting screw Z FL °
® Door closing speed adjusting valve o 215
® Door closing speed adjusting valve ‘ &
Model Maximum Door 2s =
(90°) Hold Open | Non-Hold Open | Width X Height (mm) A (CEEreEs)
1001SG 1001G 762X2,134
1002SG | 1002G 914X2,134 & ®1® @
1003SG 1003G 1,067X2,134 ot S
&F &

73 50

316

Floor hinge body only (floor side).

Top pivot (upper frame side)
ST-133-T-133 P
T
@4 o

® 37 139

4-M5X16 Flat head screw

¢a:ole "isﬂj{ #18 c LF H

i ' £
$16Hole /| 0%

1"

46

59 47 2-M8X18 Flat head screw

g
@ Door closure position adjusting screw
® Door clos!.lre p.osrclf)n ad]ystl.ng screw - - A MBX25 Flat head sorew
® Door moving direction adjusting screw T\ % s ey — L
@ Door moving direction adjusting screw r T pd j
® Door closing speed adjusting valve ‘ I\ =§‘"‘§‘n§i
L 77 7 @) < 9 ¢
® Door closing speed adjusting valve 7 %ﬁ-i//%%m— |
I 1 = F.L = 2
Model Maximum Door |_s6 | ‘ N - e
(80°) Hold Open | Non-Hold Open | Width X Height (mm) = 1 i
ST-133 T-133 1,067X2,134 ‘
73 134
[ &
'L/—"\ Arm (door side)
otod=st ool g 2
164
= | @ @
‘ R344

Floor hinge body only (floor side).

12



Top pivot (upper frame side)

170

128

B~ —edrdiy

4-M5X16 Flat head screw

“%@J'F = ‘ J-L g

4.5 Option)

+

46

47 2-M8X18 Flat head screw

T
[=]
46 A 4-M8X25 Flat head screw
3 Height adjustable plate. g
28 18[18_ 36 36
T\ v j
3 SINESES
NIN\VNINANIN E:t/ o o @
%17///41/// A/ 5 o
AT T I o L+
I 1 < FL =
< NR15
505 ‘
o
287 @
|
122
73
] w | ® @
/\ Arm (door side)
- i H n o
R 2
164
— ® ®
2308
Floor hinge body only (floor side).
Top pivot (upper frame side)
170
8[ 26 128
IE=—
37 139
B176
4-M5X16 Flat head screw
18, 120 45 Option)
¢ 8Hole /
5 2 g H
S
s = 9
s1evole /| AV2220T,
1 27‘ 70
59 47 2-M8X18 Flat head screw
| g
I
[=]
46 118 4-M8X25 Flat head screw
/ 3 Supponplate(n&ﬁ,) g
T
/ < 9 ¢
i 1 <t F.L e =
< R1.5
D
o
A
|
E
73 F
_ ® , g ©
P ‘ Arm (door side) Model
i mm|SH-130 [SH-140
‘ ‘ = ; H-130| H-140
7E€HEE++¢ O+ ‘ +—o A | 393 | 450
B 172 184
164 C| 104 111
D 59 62
E| 416 470
@ 9@ ® F| 343 | 397
50 G| 180 190

[4] Floor hinge body only (floor side).

D-122-122

(D Door closure position adjusting screw
@® Door closure position adjusting screw
® Door moving direction adjusting screw
@ Door moving direction adjusting screw
® Door closing speed adjusting valve

Model Maximum Door
(90°) Hold Open | Non-Hold Open | Width X Height (mm)
D-122 122 762X2,134

SH-130-H-130
SH-140-H-140

@

(D Door closure position adjusting screw
® Door closure position adjusting screw
® Door moving direction adjusting screw
@ Door moving direction adjusting screw

® Door closing speed adjusting valve
to be effected after the plug detached.

Model Maximum Door
(90°) Hold Open | Non-Hold Open | Width X Height (mm)
SH-130 H-130 914X2,134
SH-140 H-140 1,067X2,438

A|B|C|DJ|E|F |G

SH-130+ H-130] 393 | 172 | 104 | 59 | 416 | 343 | 180

SH-140+ H-140] 450 | 184 | 111 | 62 | 470 | 397 | 190

13



ST-144-T-144
ST-145-T-145

Oil port (Do not touch.)

@
I

L@ \2

(@ Door closure position adjusting screw
@® Door closure position adjusting screw
® Door moving direction adjusting screw
@ Door moving direction adjusting screw
® Door closing speed adjusting valve

Model Maximum Door
(90°) Hold Open | Non-Hold Open | Width X Height (mm)
ST-144 T-144 1,067X2,134
ST-145 T-145 1,219X2,438

14

Top pivot (upper frame side)

8| .26 128 |
9
40— — — eIy
37 139
R176
4-M5X16 Flat head screw
G 3 120 4.5 Backplate(Option)
18
4 8Hole 'F /4 ~
e iy g ’
& e : -
= ©
<
¢ 16Hole
11 ‘
,L 59 47 2-M8X 18 Flat head screw
z
= a
46 118 4-M8X25 Flat head screw {
3 Support plate (opt.) j
IS =
NN =
— © o o
o < ¥ <
= It o
5 L ] =
= 15
61
8
332 172
353
Fk} &
| % '
‘ Arm (door side)
[ o h \1$\,m\m“’1 8
\‘ \V‘\:j\ [ I 1 &
164
® @
7

Floor hinge body only (floor side).




FLOOR HINGES s

OFFSET HUNG Single Action Ho and NHO, double functions in one body.

Top pivot (upper frame side)

Top pivot (door side)

Arm (door side)

Floor hinge

*540 series products have NHO and HO devices in  Stop screw Oil port (Do not touch.)

one body.

Hl For NHO
Hold the door open at 30°, and turn the stop
screw clockwise until end.

M For HO
Hold the door open at 30°, and turn the stop
screw counter-clockwise until screw head and
floor plate surface become flat. Speed control valve No.1 | | Speed control valve No.2

Speed control valve No.3 (for latching)

15



° Top pivot (upper frame side)
136_ 50

A 15‘
& &
o & &%8
8
\\ ,%’ Backplate(Option) 50 | 30
Stop screw Oil port (Do not touch.) )
o] N, T
HT‘ b EEL st
o smexzoﬂawf 145 Baipiste(opton
10, . 178 -
6 %g 52 52 25
T T T
Set screw ‘ 53 & @ @ §
Tighten up set screw \ 7~ m‘\
o prevent loosening. . 8 N
X, Top pivot (door side) z
[=]
@ Door closure position adjusting screw 1
@ Door closure position adjusting screw 3 bW |
. . . . . ‘ 16
® Door moving direction adjusting screw 6-M6X30 Flat head screw 4.5 Supportplate (opt) | 1EAE ot adiustable plate (opt)
@ Door moving direction adjusting screw i S e
- o : 0|
® Door closing speed adjusting valve EE | = e J g} 30
T T
|28 ‘ g
Model NlIaX|murT1 Door |Weight e s
Width XHeight (mm) | (kg)
542K 950X2.100 70 2 295 Door stop must be installed.
3 110 .
: “TH2.33 86 33 86 33 Arm_(door side)
543K 1,050X2,200 | 110 —h ‘ ‘ ‘
N ~
544K 1,200X2,300 | 150 3 e ‘j
“$ 62 £ ——&%
Lf . H
545K 1,600X2,400 | 185 I A i< — ‘
N
3
8 &
9| @9 @
30 80 315 Single action hinges swing further 5° from
R425 closing point, so the door stop must be
installed.
Floor hinge body only (floor side).
W542 K W543 K e
.
~
‘aﬁrﬂ—* |
\\ 5- ¢ 5.8X38 Flat head screw —30
Stop screw Oil port (Do not touch.) | v ‘
L I ) | N isaaiS
L[ | ! ‘ m/JJ'LW*J: I}
&'H; s 5- ¢ 5.8X38 Flat head screw 7‘17 12 ] 5
6lflo25 52 52 25 16
i ~
Set screw gsg ﬁI @M \ i ,\
Tighten up set screw\ > m‘\
to prevent loosening. ¥ QI\
&, Top pivot (door side) T %
' [=]
. —_— Bl T N
@ Door closure position adjusting screw 1 L~
® Door closure position adjusting screw 3 bW \ L
® Door moving direction adjusting screw 6. 45,8338 Flat head scrow } “Q\T
@ Door moving direction adjusting screw 3 i QQL
. - i L o g 2
® Door closing speed adjusting valve A £l J “‘L by
28 = |28 ‘ ‘ 2
Maximum Door |Weight |
Model - - 9 418 145
WidthXHeight (mm) | (kg) 5 .
W542K 950X2,100 70 §~~;L°33 . Arm _(door side) Door stop must be installed.
W543K 1,050X2,200 |110 {1 ‘
&
¥ 62 |
VAN 11"}
% -
3
8 : a
@) @D )
30, 80 315 Single action hinges swing further 5° from
B425 closing point, so the door stop must be
installed.

Floor hinge body only (floor side).

16



1943K

Stop screw

Qil port (Do not touch.)

(@ Door closure position adjusting screw

@ Door clos.ure p.ositi.on adjgsti.ng screw Number Vi Basr
@® Door mov!ng d!rect!on ad!ust!ng screw WidthXHeight (mm)
@ Door moving direction adjusting screw 1543K 914X2,134

® Door closing speed adjusting valve

4 80
10} 30, 30,
‘ )
B oy g
5 = [
ot/ : .
<23‘/*> 1 ® Top pivot (upper frame side)
32
! 3-M6X16 Flat head screw
18.5
‘ 3-M6X16 Flat head screw <125
! ] =
b e 2 i S
0 o Mo
o . )
£1 Q‘E L 1 —»—L - 9 < el ‘
|1l 42 |23]] 70 \ [ 1,185
e L 117 12 m
3 70 l 2-M8X 18 Flat head screw ‘ ‘
g o
o 4.1 80 | !
< 3 {J% ‘ 33 ‘
e e onh s — L 1
iy 3] < T L
Set screw o8 o = ‘ ‘
Tighten up set screw | 11 @ . . P
to prevent loosening. 32 Top pivot (door side) ‘ ‘
W \ D.W ‘
} 220 3-M8X20 Flat head screw ‘
i 3 Height adjusléble plate. |
| < \ 18.5
5 T : : '_/ | w
- N ; i ‘ >lo Q %‘ |
i e gig 11 ®
‘ ! F.L o ‘ ‘ N
\ R15 ‘
' o
28] < |28,
‘ |
} 418 145
‘ Arm (door side) Door stop must be installed.
|
[e]
& e .
13 i)
& 32 al
61 ® @ @ Single action hinges swing further 5°
73 80 315 from closing point, so the door stop
R468 must be installed.
Floor hinge body only (floor side).




PIVOT HINGES I

Top pivot (upper frame side)

Top pivot (door side)

|\ e s s e e s s e e .-

Cmm
------

Arm (door side)

1
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
.

Body

# Offset hung:
Specify R/H or L/H opening to order.

18



1
4—MBX20 = L—
Flat head screw B
17 35 r
8 & ‘
141
o;%} 29 [
~ SA
= LA ek
[1] Top pivot (upper frame side)\a :
90
20 30 20127 3
3|, DraosLt |y
17
6 . o 4
5 - O] i
- .29 I , J
8 é/\\da ,
B
= ¥
a % Ry,
[2] Top pivot (door side) (_::::ion t t
ighten up set screw to
90 prevent loosening.
20 30 20
o [ o
;1 O 03| |
17.] 28 w0 =2 ]
= 9
& SA® ...
\_ '976‘
[3] Arm (door side)
o
0 PG.S 6
& |
o2l 1.
|
4—M6X20 . i J &
Flat head screw @ L} i
| — t{ .
Caution X |
Tighten up plvot screw until stop
to floor. 15
[4] Body
4—M6X20
1 1 cn Flat head screw 90 I 1
17 35 =

3.|l| Dt40LLE

D.H

20 35

F.L

13\ 15| 15

Y]

25 32

4—M6X20
Flat head screw

11C . Lo

ot
)
N Yoo \ |

> #i L]

9 CANZS P
&

4] Body 50

[1] Top pivot (upper frame side)

90

20 30 20 12|73

By

o o .

e e
. SOH |

: ‘é/\\*’f ’
U

Caution

Tighten up set screw to
prevent loosening.

20 30 20 12|17 3

B

30
8 14
©

<

20 5

[3] Arm (door side)
90

10,

J

R

L

® Y

—=

25

H’b‘

2

50

11-D

OFFSET HUNG
(Steel Door)

Left Right

Pictures show left handed
door application.

B MAXIMUM DOOR
D.WXD.H (mm) 900x2100
DOOR WEIGHT (kg) 80

116D- 110

OFFSET HUNG
(Steel Door)

Left Right

Pictures show left handed
door application.

B MAXIMUM DOOR
D.WXD.H (mm) 900x2100
DOOR WEIGHT (kg) 80

19



13CD-13C

OFFSET HUNG
(Steel Door)

=]

44 B
) |
Jan)
) ) N R1g
[1] Top pivot (upper frame side)
154
| 26 82
®s o
>5© ‘“
8

Caution

Tighten up set screw to
Top pivot (door side) prevent loosening.

154 1011 3

27 45
#125, | ﬁ
<1 [ ~
.—1 L — L~
S
15 10‘
3 4—M6X16
D120 Flat head screw
and over
T
o
30 34
1540Q 5—M6X20
Flat head screw
~ =+
- ][0 6
o | T©
o ——

=
=3

26 44 . M 26 10
!

Bl @

[3] Arm (door side)

Left Right 1 3c 50 6,14 50 614
Pictures show left handed 8 ‘ 8
door application. | JJ ] J
Slox. @ \al Slox. © \a[
B MAXIMUM DOOR I {o) LN (@)
D.WXD.H (mm) 1050%2200 [ Body % =%
DOOR WEIGHT (kg) 120 (4] Body
2CAD-2CA 200D .
44 5010
4125/ — 1
OFFSET HUNG | |
(Steel Door) &3l { WZJ&H S . L
e[ [ [ el ’
2N - L]
la—mex16 70 N AN
Flat head screw [1] Top pivot (upper frame side) Q\ /;,&
Dt40 S 154 107 3
3 |||and over a 26 82 26 10 L
5—M6X30 30 S = T
Flat head screw wlof ¢
3 ¢ . o, |
o [T ‘ AW
o \ i L 2] Top pivot (door side) & \L'r%\ AR S
e LJ . Caution N '978
S \ m Tighten up set screw to prevent loosening.
i Door stop must be installed.
D.W
240 e
30 80 80 30 10|
‘“l; S
[3] Arm (door side)
Left Right ZCA L
50 310
Pictures show left handed ;,J % 3 @
door application. slen, ® \a 5 \
I /(ﬂ N L]
B MAXIMUM DOOR N\ HBody o . © N 5]
4] Bod “’/ N/
D.WxD.H (mm) 1500%2400 ey %%@,
DOOR WEIGHT (kg) 180

20




P34
32 |
@&
()
®
[17[17

Body

3cAn 50 6,13 .
30 50 Q
6 | —
wn
S§ as B 21 3 OFFSET HUNG
5 - i
C’[ ’ : ‘ 5 L] (Steel Door)
o ol - 'ive' o
5—M6X20 [1] Top pivot (upper frame side) He,
Flat head screw
Dt40
3| andover|| % 178 6103
25 52 52 25 12 ‘L#
33 35
6—M6X30 1612 O
Flat head screw _T*‘ C = Cg
; ™~ . : =
& ’ Caution 9
o :ﬂ Deorstop mes oo ot ¥ -
S ’ [2] Top pivot (door side) %
D.W NG|
295 EA
33 86 33 86 33 12| |
G w
(G -
3cA \L [3] Arm (door side) ‘>%
62 .13 Left Right
5] \L
< J e o
= 62 13):
@ o Pictures show left handed
& 3 e shov
¥/ @$ 1 door application.
K>, . ® Jo
@ Q\ ?%“ B MAXIMUM DOOR
[4] Body Body Y Ro
k S D.WXD.H (mm) 1800x 3000
DOOR WEIGHT (kg) 300
4—M6X20
Flat head screw, cd 2 1 1 -B
17 35
r S
< &Y " OFFSET HUNG
——— al ] (Steel Door)
S\
= S\
20 35 [1] Top pivot (upper frame side)
Caution %20
o | e w0 2 g
rf\
Ji© L © 4
SO O
- 8 @/\\*f
o ¥ '976‘
[2] Top pivot (door side)
90
20 30 2012 7i3
7R
3l <l [ L
. O3
o :
20 35 &
[3] Arm (door side) L
Sl 4—M6X20 —‘ Left Right
2 T:j Flat head screw |14 ! &
32 ‘\—q O
R34

Pictures show left handed
door application.

B MAXIMUM DOOR
D.WXD.H (mm) 900x2100
DOOR WEIGHT (kg) 80

21



OFFSET HUNG o 44 Hi1a |
(Steel Door) | ,JJ
gl oA\ F I\ &
27 45 ¥ (ﬁ
Q1?.5 - ﬁ _ Top pivot (upper frame side) Big
31 [ —
of | D] 154 10113
15110 .26 82 26 {101 g#
4—M6X16 i
d D40 Flat head screw 9’7@ o Q)
and over @) -
= =
a ™|
30 |l 34 [2] Top pivot (door side)  Gaution
1549 1)) 4-mexzo rovort oassmng.
154 1041 3
R s e v
{ ] K\} St © L o &
& S oI 1% 4 Qo
o [TEL > . J
[ o N
25 | “’ S
38 Arm (door side) Ro3
Left Right liley
70
rsa | ||
gicturesl_shqc\_lv left handed o H TR
oor application. 3 ,@()@, N
3 {e@)el;
H MAXIMUM DOOR 50
D.WXD.H (mm) 1050%x2200 [4] Body
DOOR WEIGHT (kg) 120
L[]
2Bc 2B Top pivot insert (upper frame).
ZBG .27 45 ,L
OFFSET HUNG 12‘5 ﬁ 44 5110
i L
(Steel Door) = = 1
QLTLI:L o) QF [1] Top pivot (upper frame side) N b)?\‘{‘ T]
4—M6X16 NI 8s
Flat head screw
N i 154 107.3
o ‘ EJ 2 %10 Ll
330 and:;ver T ; : ; T
| @ @ i
4—M6X30 4 NG L
Flat head screw ] <
ALY
T 8
& l o T Caution
41 7 = rovertoosening.
=g Welding available 240 573
$50 30, - 80301
o "é* ,‘_ &‘ 0| "é ,‘_ H
> & | f\' 52"«& il L
g oA ® &
Arm (door side) o,
\ 8o,
L
Left Right LO:
4—M6X16 [1] Top pivot cut-out (upper frame). ‘ T
Flat head screw 154 10110 J
Pictures |,sho\./v left handed ﬂ%%* e 82 2610 ] @'é;\@ 8
door application. z][ 2 éfgk $ P $ @& ==ar
o =1 L) | @Body |® 1 ¢4
B MAXIMUM DOOR s . SENINE nolnzs
D.WXD.H (mm) 15002400 Flathead serew [T Top pivt (upper rame side) P27
DOOR WEIGHT (kg) 180

22



Top pivot insert (upper frame).

3BC , .30, o
| [ ‘ l\‘ & 50 6 13
= ==k Lon
S — J |
3 G
\4—M6X20 ’ H;j‘
Flat head sqrew = ‘4‘ =
D40 4 (\ i
3_|jland over = Top pivot (upper frame side) 3 Rey
33 || 35 o
4—M6X30 178 6}10 3
Flat head screw ; 25 ; 52 ; 52 ; 25 ‘12
gl | o ENE o100 e @ G|l
oG i 2 AN
S 'ﬂ.( o\ A
e & | g Top pivot (door side) | &/ AR
95. 4 Welding available = Cgutlon \ﬁ '997
HH prevent loosening.
[ T ©
‘ D.W 3
—TO—‘ 295 210
33 86 i 33 86 i 33 12 |

Qi

912

33 7] 28

Arm (door side)

3BC-3B

OFFSET HUNG
(Steel Door)

i3 .
I U Left Right
3B [1] Top pivot cut-out (upper frame). o ® |
416 30 5—M6X20 178 6 13 b pany ;
LT g Fatedsoow [ e 5 5 g pcR== Pictures show left handed
S sy A door application.
S e [ o o % = ®
} Pt ht 5 i
| = T N R35 | R35 B MAXIMUM DOOR
5—M6X20 8 @N“ A MI [4] Body 080
Flat head screw \\S)S 7 D.WXD.H (mm) 1800x 3000
DOOR WEIGHT (kg) 300
* Parts supplied to order.
R * Consult for the delivery time. =
Hex. soc. screw. o0 5 15
£ 50_..50_.50_ 50_. 5015 OFFSET HUNG
Lm.m — - L Steel Door
R __J5i% 5 FEag® L9 ( )
S — =~ + 05
[s)
s \ \
6—M10X35 (\
Hex. soc. screw. [1] Top pivot (upper frame side) /9‘?5
D.W
280 5110
50..50 .50, .50 _ 50 15
= g
g © |40 | ©
do ~ 09 o,
68 || DT o | N
% [2] Top pivot (door side) “ Vo
g Caution \ /935
3 l prevent loosening.
2 - 380 505
oy = ‘ 570 ‘ = 50 .50 .50 __50_, 50 .50 _ 50 (5
T 3 sssss—=.
P : < < @ ERrE @
& €2 $88 ?‘97{ & ‘E’m ‘»’,é:,‘130 I
C ] m(w
o - ©
‘,—2'00—.‘ [3] Arm (door side)
i 2
Left Right
B
m @ gictures Ifshot\_/v left handed
©| oor application.
(o)
Weoy & [ T B MAXIMUM DOOR
|__Rroizo D.WxD.H (mm) 4000x5000
200
DOOR WEIGHT (kg) 1000

23



90 110
= 7. 35 |Lﬁ
< = [ I i
OFFSET HUNG i . = 2 & *ﬁl
- L - — m&
(Steel Door) T 5 S AN Y29 ‘JJ
= A\
4-44.8X32
Flat head screw
20 29 [1] Top pivot (upper frame side)
3 90
Er%Gover 20 30 _ 20 _12|7..3
\ 1T
~ | - i
[ee) |l e
e o @ o |
~ I il j
8 SAE
< \{ Ri1e
a Caution
[2] Top pivot (dogoor side)
30 20_ 1217, .3
EE1
~
175 28 Q
~
4-44.8X32 o
Flat head screw o
=
Left Right 8
2 I
Pictures show left handed BL =9 =g
door application.
Body screw
Caution
. MAXIMUM DOOR Tighten up plvot screw until stop
to floor.
D.WXD.H (mm) 900x2200 (4] Body
DOOR WEIGHT (kg) 80
. 10
SW-11GD-SW-11G|  s%von.. © L
< F—
[T el
OFFSET HUNG Cil i 2l oy ‘
(Steel Door) E “ﬁ ' S
4-44.8X32
Flat head screw
3 [1] Top pivot (upper frame side)
Dt36 90
and over ‘ 20 30 20 1‘. 7 i3
=11
: el o &
- o N > ST |
| © 72\
© &
e 122 tJJ
& & \%’f
4-448%32 Nl
Flat head screw [2] Top pivot (door side)
| 20
ol | ] HE]
FL ol ] 1 o =
o) l : r=) &
‘_77 S N
mé [— ™~
25 32 &
Caution

Left Right

Pictures show left handed
door application.

B MAXIMUM DOOR
D.WXD.H (mm) 900x2100
DOOR WEIGHT (kg) 80

‘ Tighten up set screw to prevent loosening.

SW-11C

90

T
: )
o,
&
3 29

Body

=

26

L

N
25

R

[3] Arm (door side)

90 10,

26
o
’999
]

® Y o

[4] Body

R

24




SW-11B

17 35
- = g [ I OFFSET HUNG
E l i of o m,% » (Steel Door)
o [ 2 [ T[] 5 ~
4448X32 |
Flat head screw [1] Top pivot (upper frame side)
20 29 9
3 20 30 _ 20 127 3
DI36 [ RSNy
and over ~ “*}@ - “
o 5 &L |!
=HP o 90 |
b= [ il
§ “;“/\\*’f
. &)=
° mTOp pivot (door Side) (':I'iec_l;:tt:’nn up set screw to
90
2030 20 12[7].3
. [oe) A
8| o
o]
20| 29 ~
54
4448%32 |
Flat head screw
w0l o] o |
2l [ [T - Left Right
: ELQH ! > A
: 50 ,
2 | [14] JJ Pictures show left handed
25 | = door application.
H i
Ros (Dol g
I B MAXIMUM DOOR
(@) Body D.WXD.H (mm) 900x2100
DOOR WEIGHT (kg) 80
[1] Top pivot (upper frame side) Upper and lower portion No.1 for reverse installation s.1 AF
‘ 170
826 128 CENTER HUNG
,%{}4},7, (Steel Door)
“R37 2139 Ny
B176 %ﬁ“
18 120 4-M5X16 Flat head screw J
$18 / 14.5 Backplate(Option) |~
: ARl
N =i | : HL 5 !
ST —e & | :

[t] U] ©
425 N\
| ) . 3-M5X16 Flat head screw
|18| 14,5 Backplate(Option)

Top pivot (door side)

0o, T, o

16[,30 [, 48 |, 48 |
151
1 ey .
S ‘ a
?12
i ;
[ i & © ] 9 S
[ I [}
0 o
4 5 & e
36 Arm (door side)
46 2 [4] Body
4—M6X20 (Flat head screw)
16 154 M6 fixing screw to be site gauged.
R50 /
£ i 3l
G : B MAXIMUM DOOR

‘ D.WxD.H (mm) 900%2100
DOOR WEIGHT (kg) 100




S-1A

CENTER HUNG

B MAXIMUM DOOR

Top pivot U
[1] Top pivot (upper frame side) 18, 120 scis
‘ 170 “I:&ﬁ o o] [T
8 26 128 S e
L )
—%—6}—4&—7— #10Holf ‘ W TN g w16 Fiat head scrow
R37 R139 \ ;%@w 1000 q
45 [ o0 [25]25]
R176 ! 4] 135
Add "U" after article number when U type top pivot required.
18 120 4-M5X16 Flat head screw -
/ 4.5 Backplate(Option)
~ /
) L > m¢
Hal
1
= — ot |
\ 3-M5X16 Flat head screw
,@3 ,7,,@77,7,,3:\.
[ =y
161,30 [, 48 48 ]
- 151 [2] Top pivot (door side)
a5
4—M6X20 a
wf FI
ai =
e
N —
el
25
32
[4] Body

| [3]Arm (door side)

D.WXD.H (mm) 9002100 ! (7
DOOR WEIGHT (kg) 100
Top pivot (upper frame side)
1826 128
CENTER HUNG Y 5 eT]
_R37 139 B = s hdlgcrewwllhsgnnngshsv
R176 g & J‘$ 4;@% %] ]
18 120 4-M5X16 Flat head screw || ‘\Ggs 25 | 25
m / 14.5 Backplate(Option) Add "U- 11" after article number when U type top pivot required.
= ¢ e (NOTE : S-2AU-1)
e R N o
S T S T ¥
& mI LT ] ©
$25
P . 3-M5X16 Flat head screw
118] 14,5 Backplate(Option)
Oo T
© O
i 16[,30,[, 48 [ 48 | . .
- 151 [2] Top pivot (door side) s
=l
)
8
. g T
60 4-M6X30 Flat head screw § a
<
t4.5 Support plate (opt.) §
:B | 050
FL. i - T =
© _| 450 )
Welding available N 0 3| o
N JJ45
[3] Arm (door side)
3 D.W
— R63 B35
[4] Body
H MAXIMUM DOOR H
D.WXD.H (mm) 1500x2400
DOOR WEIGHT (kg) 180

26




Top pivot (upper frame side) Top pivot U-II
18
y ]
170 o | oo 3A

8 .26 128 ]
! S TqF || CENTER HUNG
i 8 N
ﬁ%{}%i @ ’Etﬁl g] ¢ 12Holg) | "Agjust screw w
4-M6X16 Pan hd. screw with spring washer.
i IE%;SSQ N 25 6, &
AR o % 5
18 120 4-M5X16 Flat head screw J== 1‘635 = o8

37

t4.5 Backplate(Option) Add "U-11" after article number when U type top pivot required.
~

- ¢ / / (NOTE : §-3AU-11)
3 L ]

| |
- — 1 o .4 I‘ T *
& NI ﬂ ] ] ©
i \_3-M5X16 Flat head screw
18| 145 Backplate(Option)
Ve e
& o
161,30, [, 48 [, 48 ]
- 151 Top pivot (door side) o
T a
@
8
D.W 2
sy T
60 4-M6X30 Flat head screw & o
<
4.5 Support plate (opt.) §
i ] I ™
HA 0 i
=]
2 & @
364 o &
Welding available
o m:n N
[0 ]
Arm (door side)
3 D.W (4] Body
— P63 R35
. =
g Rl
H MAXIMUM DOOR
- D.WxD.H (mm) 1800x 3000
DOOR WEIGHT (kg) 300
[1] Top pivot (upper frame side) : gzg:j:’%ﬂ";‘itgeﬂzﬁyl' time s-4A
250 )
35 55 70 70
! ! | CENTER HUNG
a g | —
gho- o2 Slad
R40 R220
Caution
6—M10X35 ‘ Tighten up set screw to prevent loosening. ‘
Hex. soc. screw.
25 $8Hole
i i} [l 5
L i ; N 8 =3 | 3
el
I © HH : 8Iu‘—) l, ;;Lg,,&ﬁ S
s o & o i f fif e bod ©
> [¢35] & g
g 10|Opening 80 6—M10X35 £
o Hex. soc. screw. S
A mi{
P e o o9 z
35 55 | 70 | 70 |
250 DT
8—M10X35
/Hex. soc. screw. e
= [HHE
el ] 9 &
E.L. N ‘ ¢_‘0 ‘ -
120 =
8 a8 @
oI } ]
s \ 200 |
& 80 [4] Body
|
. N B MAXIMUM DOOR
[3] Arm (door side)
R 150 D.WXD.H (mm) 4000x5000

DOOR WEIGHT (kg) 1000

27



AUTO HINGES s

CONCEALED type CENTER HUNG single Action

Top pivot jamb portion

«Jk \-
> — J\m@/ - .
\ 2 Top pivot door portion

Closing speed
adjustment gear

Spring adjustment hole.

......... Left Right
~~~~~~ (Gold) (Black)

Bottom shaft receiver

28



Top pivot TP-1

4-M5X12 Flat head screw

AH-8K

WICKET DOOR

0| - ‘ < Backplate(Option)
j 9 /44;7 - -
© | = g+ Top pivot (upper frame side) TP-1
l Ay a 4 R159
(Y
HIFH A I ‘¢‘25‘\ $13 A 75 148.5
‘ ‘ 45X 12 Flathead sorew | | Backplate(Option) 15.3 138
! ‘ A-A View
[ J— ‘
‘ ‘ Closing speed adjustment hole ¢ 15. 15.5
E <. ;ﬁ ClosIng speed adjustment gear.
\ Notes:
9 ‘ $28.2 1. lllustration refers to right opening.
| Spring adjustment hole. 2050 2 1o el refers Lo standard appications. Specily
. Door side (90°opening. " : : )
' vl Set-pin ¢5X10 ( P 9.) 3. Use standard supplied rubber caps to closing force
ﬁ o[ ‘ & | and spring adjustment holes.
. tl ) _ R 4. Door stop must be installed.
‘ Spnngladiistmentholes @ & 5. At pre-set installation, cut-out for spring adjustment
o ! SR G ‘ﬁ |24 hole is unnecessary.
- § ‘ Upport pate (O6L) .20 Fiat head screw o Open 6. Fix the round part of [4] pivot seat groove to
== ‘ £ hanging side.
ST } - Maximum
1.23 F,ﬁﬂ:ﬁi I~ v [3] Arm (door side) Number Model Door Width
9 © 16) Body (23)‘ Support plate (opt.) \ 4-M6X20 Flat head screw Note:
“ F d i hol
it o R AH-8KL W-=800mm
available regardless left or right
4] Body K-1 e CENTER| 11_yg50mm
2140 HUNG
o g 3a | | 4:M3 Fiat head screw AH-8KR D=36mm and above
[ /l\w J@ @‘E; Maximum
sl HOTe L ¥ | STely @ . Open Hold open
| o © =lsg Door Weight P P
\$30 180°
16/20] 85 Open . . _
‘ Y Op 40Kg One side opening
32 68
4-M5X12 Flat head screw R
0 @ Backplate(Option) Top pIVOt TP-1
z = 4t 2
e s o -2 . .
L / ofal ﬁ Top pivot (upper frame side) TP-1
13
4-M5X12 Flat head screw | | Backplate(Option) 75 H; g
5.5 133
gfﬁ@—%g ggg A-A View
|.28,[10 85 |
Closing speed adjustment hole ¢ 15. . .
T Top pivot (door side) TP-1
al + Closlng speed adjustment gear. Notes:
1. lllustration refers to right opening.
1 i 2. Use plumb down from top pivot, and adjust center
o ‘ 2 ‘ 4282 of the pivot seat slidling. and then weld secgrely.
b= ' = | ) ) 3. Use standard supplied rubber caps to closing force
‘ 121 38 Spring adjustment hole. 20X50 and spring adjustment holes.
. L 4. Door stop must be installed.
§ o ‘ & / 5. Pre-set installation also becomes possible after
s IR pivot seat has been welded.
5 . o } 6. Fix the round part of [4] pivot seat groove to
o ‘ ﬁ ‘ Support plate (opt.) Door side (90 opening.) hanging side P 4l p 9
| | o .
. ‘ Z -2 ‘ Mo 20lElisaCscls i 7. Body [3] must be fastened with screws. Do not weld
o e — { temporarily.

TS ol | 8. For top pivot and fixing hole positions, only showed
== L | ! : ; ;
ek J \ Lg eAT ‘ i ‘ }sprmg ~L Open pattern is avallabl_e regardless left or right opening.
7 o s B %A 9. At reverse applications, remove seal covering
2 N T _ spring adjustment hole and exchange the set pin.

A Bottom shaft receiver Arm (door side)
after positioning. [4] Body D-1N Maximum
. ) _—t ) Note: Number Model .
90 opening. 180 opening. For top pivot and fixing hole Door Width
positions, only showed pattern is
44 44 available regardless left or right
22(15~29)‘ 22(15~29)‘ opening. AH-8L W=800mm
~ — == CENTER | 4_s000mm
B 3 T =
3 & J % HUNG
Sl AN 7‘ S os T AH-8R D=36mm and above
SIS %]géi ‘ 8RS §]$§
JE £ — ] Maximum
i ~— . Open Hold open
38 [\%, l‘ CpEn 38 [\%, J‘ Cpem Door Weight P P
o) )
R40 O"\_2-M3X8 Flat head screw P40 S\ 2-M3X8 Flat head screw 1 80°
50Kg One side opening -

29



AH-10
AH-12

N

1.
2.

3.

[0

otes:
llustration refers to right opening.
Use plumb down from top pivot, and adjust center
of the pivot seat sliding. and then weld securely.
Use standard supplied rubber caps to closing force
and spring adjustment holes.

. Door stop must be installed.
. Pre-set installation also becomes possible after

pivot seat has been welded.

. Fix the round part of [4] pivot seat groove to

hanging side.

. Body [3] must be fastened with screws. Do not weld

temporarily.

. For top pivot and fixing hole positions, only showed

pattern is available regardless left or right opening.

. At reverse applications, remove seal covering

spring adjustment hole and exchange the set pin.

Maximum

Number Model Door Width

AH-10L W=1000mm

CENTER | 4 1 00mm

HUNG
AH-10R D=40mm and above

AH-12L W=1200mm

CENTER | 14 1 00mm

HUNG
AH-12R D=40mm and above

Door Weight

ERTLT Open Hold open

180°
85Kg One side opening

180°
100Kg One side opening

J=5

68

Backplate(Option)

ry

Tl
T

4-M5X12 Flat head screw

Top pivot TP-1

Top pivot (upper frame side) TP-1

D.H

308

6(6~10)
7621

after positioning.

=23

Pl

26‘

48(32~64)

‘ »38

b

X

180° opening.

Note:

For top pivot and fixing hole
positions, only showed pattern is

38 S

44 available regardless left or right
22(15~29) CLAIE:
|k s
3
- § éT ol |
= -
£ . I
s IR F TR
] N, [
.L Open A J, Open

) )
O*\ 2-M3X8 Flat head screw | pao | &'\ 2-M3X8 Flat head screw

I
ol 4 R159
& 75 1485
4-M5X12 Flat head screw | | Backplate(Option) [15.5 133
RN e O g§ A-A View
‘ Closing speed adjustment hole ¢ 15. \iJ —
|28} 85 |
| ClosIng speed adjustment gear.
| o
g =
‘ Spring adjustment hole. 20X50
ahl |
© |
5 ‘ z 8
? =
! 3 Support plate (opt.)
‘ 2 4-M6X30 Flat head screw
(\“
Y
! o i hole, 120 i Open
18 D.W
| Y
‘ Arm (door side)
7 ~ = = e
Weld and fix

AH-14

Notes:

1.
2.

3.

(S0

llustration refers to right opening.

Use plumb down from top pivot, and adjust center

of the pivot seat sliding. and then weld securely.

Use standard supplied rubber caps to closing force

and spring adjustment holes.

. Door stop must be installed.

. Pre-set installation also becomes possible after
pivot seat has been welded.

. Fix the round part of [4] pivot seat groove to
hanging side.

. Body [3] must be fastened with screws. Do not weld
temporarily.

. For top pivot and fixing hole positions, only showed
pattern is available regardless left or right opening.

. At reverse applications, remove seal covering

spring adjustment hole and exchange the set pin.

3~5

68

Backplate(Option)

120

D.H
12

368

236

i
/ ol &l +
4-M5X12 Flat head screw | | Backplate(Option)

4-M5X12 Flat head screw

Top pivot TP-1

[1] Top pivot (upper frame side) TP-1

Closing speed adjustment hole ¢ 15.

119

$31.8

ClosIng speed adjustment gear.

Spring adjustment hole. 20X50

20

232

Set-pin ¢ 6 X9

R159
5 148.5
5.5 133

2g &

SE

Top pivot (door side) TP-1

Support plate (opt.)

4-M6X30 Flat head screw

35,20, 2-M5 Screw

6(6~10)
7621

Number Model D'\gifmvwggh
AH-14L W=1400mm
CENTER | 11_5100mm
HUNG
AH-14R D=40mm and above
R Open Hold open
Door Weight
180°
130Kg One side opening -

Weld and fix
after positioning.

il

48(32~64)

£

2

Spring adjustment hole.

Bottom sha‘ft receiver (4] BOdy D-1N

180° opening.
4

4
22(15‘|~29‘,

i ;
7% 252525
12

.L Open

Arm (door side)

Note:

For top pivot and fixing hole
positions, only showed pattern is
available regardless left or right

opening.
|
I
;s]ﬁ
- 2 J, Open
38 )
2-M3X8 Flat head screw R40 O*\ 2-M3X8 Flat head screw

30




4-M5X12 Flat head screw
Backplate(Option)

Top pivot TP-2

AH-16

ol ? AR °
0] [ I
== Ad T 1 [1] Top pivot (upper frame side) TP-2
T ﬁNI [ e ﬁ P pivot (upp )
408 \£18 /
‘ | %_J 4-M5X12 Flat head screw]  LE2CkR1ate(Option) R161
i T ‘ 3 155
< $23 ! 135
L] 7%;
‘ . Closing speed adjustment hole 4 15. 9 @*%* Eig 3 A-AView
‘ ‘ Closing speed adjustment gear. B ‘
< ! 2 L l#3e
‘ ‘ Top pivot (door side) TP-2
16,34 Spring adjustment hole. 20X50
‘ v | Set-pin ¢ 8X12
= |=e[D . 8
a ' |
! | b Notes:
8 ‘ ‘ 1. lllustration refers to right opening.
2. Use plumb down from top pivot, and adjust center
‘ ‘ of the pivot seat sliding. and then weld securely.
. o . 3. Use standard supplied rubber caps to closing force
3 i 8 ‘ DRSS (Y EliE) and spring adjustment holes.
‘ ! 4. Door stop must be installed.
1 ‘ \ 5. Pre-set installation also becomes possible after
‘ Backplate(Optio) s | : 4 pivot seat has been welded.
: ‘ Eaa W{M S & 2 6. Fix the round part of [4] pivot seat groove to
0 == /80 [.30 [ 30 [ 30 hanging side.
H T / 130 ~L Open 7. Body [3] must be fastened with screws. Do not weld
| + 3 DW temporarily.
sls j _T Spring adjustment hole.
7| o} =2 Arm (door side) -
o —_— Number Model Maximum
L oom srarecover (] Body D-1N umoe ode Door Width
Note:
:‘,’fe':’:o"s‘fﬁ'g;‘ingv %0° ) 180°openin Fg:e}op pivot hand dfixing hole
opening. PE ot AH-16L W=1600mm
opening. CENTER
22(15~29) 22(15~29) H=2400mm
i (A==t HUNG
53 N 3 i AH-16R D=45mm and above
& B P B
E Jf@jtf" K ‘ e B Maximum
RLINSS/] @ i R INEA ) Open Hold open
J £ N — £ Door Weight
-  Open -ty J Open :
38Ny EEIN ) 180
R40 | O\ 2-M3X8Flathead screw | p4o | '\ 2-M3X8 Flat head screw 160Kg One side opening -
20

$28

Top pivot TP-2

[1] Top pivot (upper frame side) TP-2

264

Spring

Set-pin ¢ 8X15

55

Backplate(Option)

1t hole. 55X55

of & * R161
2 A 3, 155
q Option
4-M5X12 Flat head screw) ) T2 =
s
Fo— @ [[=[8F A-Aview
Closing speed adjustment hole ¢ 15. @ @— &
ClosIng speed adjustment gear. \ 85 ‘

32

~+
Bottom shaft receiver @ BOdy D-2

180° opening.

45
25(155~205)

T
g ‘
3
5 Support plate (0pt)  4-M6X30 Flat head screw )
2 =
2 ‘ il it il
N —F
IR ! il il Y
& “I ‘ i A ] = 8}}
‘ E C"f ll 8| - ‘ ! + ¥
ST T =
J
! G 3 D.W
©
o| P A Y T | T Spring adjustment hole. .
R = [3] Arm (door side)

Note:

For top pivot and fixing hole
positions, only showed pattern is
available regardless left or right
opening.

‘ 52(36~68) |8

103

Weld and fix 90° opening.
after positioning. 3
45
Backplate(Option) 25 (155285) Backplate(Option)
=
3
] bt 7‘
ool
$55 l4 Open
64

|

T,,

Open

AH-18
AH-22

Notes:

1. lllustration refers to right opening.

2. Use plumb down from top pivot, and adjust center
of the pivot seat sliding. and then weld securely.

3. Use standard supplied rubber caps to closing force
and spring adjustment holes.

4. Door stop must be installed.

5. Pre-set installation also becomes possible after
pivot seat has been welded.

6. Fix the round part of [4] pivot seat groove to
hanging side.

7. Body [3] must be fastened with screws. Do not weld
temporarily.

Maximum
Number Model Door Width
AH-18L W=1800mm
CENTER | 11 5400mm
HUNG
AH-18R D=50mm and above
AH-22L W=2200mm
CENTER | 11 5400mm
HUNG
AH-22R D=50mm and above
LAY Open Hold open
Door Weight P P
180°
200Kg  |One side opening -
180°
240Kg One side opening -

31




AH-26

4-M6X20 Flat head screw
Backplate(Oplion)

Top pivot TP-3

M
T L—
il m\m
f\ﬁ M¢1 I [1] Top pivot (upper frame side) TP-3
4-M6X20 Flat head screw, Backplate(Optlon) 169
2 $23 - 19,34 | 108 ‘
. [
' Closing speed adjustment hole ¢ 20.
© ‘ o ClosIng speed adjustment gear.
=l &
‘ Spring adjustment hole. 55X55
4 ‘ Set-pin 4 8X15
| ¥ ! B
) 1t
o It il
Notes: ) )
1. lllustration refers to right opening. ‘4
2. Use plumb down from top pivot, and adjust center i (Bg;:g:f)te $46
of the pivot seat sliding. and then weld securely. ‘ ‘
3. Use standard supplied rubber caps to closing force o 1 '
and spring adjustment holes. & ‘ ~ ‘ Door side (90°opening.)
4. Door stop must be installed. . o
5. Pre-set installation also becomes possible after ‘ ‘ Support plate (opt.) 4-M6X30 Flat head screw
pivot seat has been welded. | I
6. Fix the round part of [4] pivot seat groove to | ; i 7 ; = g}'
hanging side. | | E R JSD IV &
7. Body [3] must be fastened with screws. Do not weld v L o il [ | = = =
temporarily. She \ \ vl Height adjustable plate. -2 180 ~L
8 \ & 3 D.W Open
Maximum \2 A L _%?4 ! Spring adjustment hole.| .
Number Model Door Width o Bottom shutt receiver | 4] Body D-3 Arm (door side)
Weld and fi o f o : 8
after positig;]ing. 90" opening. 180" opening. For top pivot and fixing hole
AH-26L W=2600mm 50 Backplate(Option) 50 positions, only showed pattern is
CENTER H 2600 25(18~32) 25(18~32) Backplate(Option) g\éi;ir\‘?ntge regardless left or right
= mm © | © | :
HUNG = = ik —
AH-26R D=55mm and above 2 - N s T N
e Open Hold open 2 K\ Gl i B '/\\ G 7
Door Weight P P T J N
S N T — (-
180 54 ,L Open 54 ~L Open
310Kg One side opening - 260 260
20 28 88 :
AH -30 T 4-MBX20 Flat head screw Top pivot TP-4
— VoA U SadISCIOW]

AH-30H

Notes:

w -

o>

. lllustration refers to right opening.
. Use plumb down from top pivot, and adjust center

of the pivot seat sliding. and then weld securely.
Use standard supplied rubber caps to closing force
and spring adjustment holes.

Door stop must be installed.

Pre-set installation also becomes possible after
pivot seat has been welded.

. Fix the round part of [4] pivot seat groove to

hanging side.

. Body [3] must be fastened with screws. Do not weld

temporarily.

Maximum

Model Door Width

Number

W=3000mm
H=2600mm

AH-30L
CENTER

HUNG

AH-30R D=55mm and above

W=3000mm
H=2600mm

AH-30HL
CENTER

HUNG

AH-30HR D=55mm and above

Door Weight

Maximum

Open Hold open

180°

410Kg One side opening

180°

510Kg One side opening

32

Backplate(Option)

] | gt 0
Q i
© i [ 5 | Top pivot (upper frame side) TP-4
- ™IS T 1
; | A Y— i 4 al A 21 150
1 [ N¢19 29 10 103
. | Backplate(Opti
g $23 ackplate(Option) 4-M6X30 Flat head screw _‘ ‘
L [T - Nicly e
i = ,7®7 <[] J
) {D [ @,il"’ &l
g | S Closing speed adjustment hole ¢ 20. b
) )
N ‘ ClosIng speed adjustment gear. m24‘ 2153 A-A View
' ‘ [ Spring adjustment hole. 55X55
3l |2 ‘ 9 Set-pin ¢ 8X15 [2] Top pivot (door side) TP-4
‘ 11 Ry 138
2l | i S
Backplat ‘ 29 10 103
ackplaie 21 150
‘ (Option) 446
© ' B °
& Door side (90 opening.
™ ‘ 8 ‘ 4-M8X30 Flat head screw (90 opening.)
‘ ‘ Support plate (opt.)
. [ I i N o
E i
il | & & & E[eg 3—— 3]
1 3 L] I N ©
- - . Y =
1
3|2 ‘ ‘ 2 Height adjustable plate. 1 ‘2\ 40 50 40
I : : = 180 Open
oI A — - DW pe
A= T :
0 S ring adjustment hole .
~ Bottom shaft receiver M e Arm (door side)
Weldandfix 90" opening. 180° opening. Note:
after positioning. 44 Backplate(Option) 44 For lop pivot _and_ fixing hole
el ; d
Backplate(Option) %LNZQ) 32_“,~29> Z‘v’:ﬁfﬁi roeng;rdsle:\:ele"pa;er;;g;‘s'
) [ [ opening.
N # — N 8
-] 3|~ P S|
2 /?%\ NELS S [ SR PR
ol \ SO0 ‘ ©|al IR
T I T
& Vool v
66 66
70 Open 70 Open




DH

307

6(6~10)

6-M10X35

/ Hex. soc. screw.

[ il

Upper frame

574

210

o 1

Spring adjustment hole. 5X55

Support plate. t=4.5mm

Spring adjustment hole.

"\ 6-M10x35

Hex. soc. screw.

[1] Top pivot (upper frame side) TP-5

245
30 55 70

50

R35

R220

A-A View

[2] Top pivot (door side) TP-5

4
e

and over.

5-M8X40Flat head screw

! Plate t2

60LLE

| AE Body D-5
=y —=

Platet2  —f
©44.5Hole | [
: o
8
o
i
A [ 2-M3X6Flat head screw
50
RS54
Note:

For top pivot and fixing hole
positions, only showed pattern is
available regardless left or right

opening.

AH-35

Notes:

1.
2.

3.

[S 0

lllustration refers to right opening.

Use plumb down from top pivot, and adjust center
of the pivot seat sliding. and then weld securely.
Use standard supplied rubber caps to closing force
and spring adjustment holes.

. Door stop must be installed.
. Pre-set installation also becomes possible after

pivot seat has been welded.

. Fix the round part of [4] pivot seat groove to

hanging side.

. Body [3] must be fastened with screws. Do not weld

temporarily.

Maximum

Model Door Width

Number

AH-35L W=3500mm

CENTER

H=2800mm
D=60mm and above

HUNG
AH-35R

Door Weight

Maximum

Open Hold open

180°

650Kg One side opening

6—M10X35

Hex. soc. screw,/

-

DH

571

299

48

224

[1] Top pivot (upper frame side) TP-5

& Upper frame

298

o |

Top pivot set screw.
Drill 8 for Allen key hole.

[
6—M10X35

Hex. soc. screw.

Jop pivot adjustment cut-out.
Cover for separate supply.

Closing speed adjustment hole $15

Closing speed adjustment gear.

30 56 535 70
gl &, & ¢
iy ma

R35, R220

A-A View

[2] Top pivot (door side) TP-5

Arm (dopr side)

N 90opening. % % 180’opening.

£

Fai
!

£
3

i
L]
-
65LLE

s |l

Spring adjustment hole.55X55

Set-pin 2—®10X18

Support plate. t=9mm and over.

4MBXU0 Hex soc. sorow vt g vasher,

$
|

@/ 4

Spring adijt hole.

bW
Spring

hole.

30

6(6710) ‘

R54
50
1

4] Body D
P

Plate t2
©44.5 Hole

lon

e

&

2119,

LETEES

2-M3 Flat head screw

28, 172

200

Note:

For top pivot and fixing hole

positions, only showed pattern

is

available regardless left or right

opening.

AH-40

Notes:

1.
2.

3.

(&)

lllustration refers to right opening.

Use plumb down from top pivot, and adjust center
of the pivot seat sliding. and then weld securely.
Use standard supplied rubber caps to closing force
and spring adjustment holes.

. Door stop must be installed.
. Pre-set installation also becomes possible after

pivot seat has been welded.

. Fix the round part of [4] pivot seat groove to

hanging side.

. Body [3] must be fastened with screws. Do not weld

temporarily.

Maximum

Model Door Width

Number

W=4000mm
H=3000mm

AH-40L
CENTER

HUNG

AH-40R D=65mm and above

Maximum
Door Weight

Open Hold open

180°

800Kg One side opening

33



AUTO HINGES e

CONCEALED type CENTER HUNG single Action

B-1Type

(25.5) 6(6~10)
R
' AN

i

llustrations refer to R/H application. N &
Applicable models: 2 o o
AH-8- AH-10- AH-14. For F —
B-1A and AH-16, use dimensions | €3} IEIEEE
quoted in parentheses. 80" opening. Jo= f§§§l 180° oponing. V"
B-2Type Mlllustrations refer to R/H application. %Jﬁ%ﬁ Lzlz(i »m: »m: L

6[]24 130

i [T &

!ﬁ» 200

AH-18 « AH-22 ﬁ L
B B

90° opening. Ope"»L 180° opening. »Lope”

Applicable models:

R50

0

El N L
B-3Type Millustrations refer to R/H application. é T { o o
Applicable model: gl | | B
AH-26 ' 30 200 © \
—
= ESIEEE
Nt Nt =
90° opening. i‘Open Beg | 180° opening. ¢Ope”
3| L I -
B-4Type Millustrations refer to R/H application. N [ ot
©r | [ U T el
Applicable models: 5| | | IEHE ]
H-30-AH-30H 30 200" |
AH-30 30
=k
o el
T 301,30 n
90° opening. P ‘L ®66 _| 180° opening. ‘Lope
. - | 428 *hivdo
B-5Type Mlllustrations refer to R/H application. %\ “ ‘ “ l }
Applicable models: q ‘
AH-35-AH-40 & L |
|
Y
j i
@ ERRE: @ B
] 56 on 56
B54 | 90" opening. ‘LOP R54 180° opening. ~L°pe”

34



DOOR SELECTORS I

Model A[m(l;::gth Second closing door (W) First closing door (W)

Offset Hung Center Hung Offset Hung Center Hung
DS-250 250 Below 1000 Below 1000 Below 1000 Below 1000
DS-350 1000~2000 1000~3000 1000~2000 1000~3000

ROTARY DOOR STOPPERS I

RT-35

84

#
i
L

HORIZONAL TYPE

RY-35

SPRING HINGES IS

For various inspection doors

@For one side opening use only.

@®Weld to use.
BSTANDARD
MAXIMUM DOORS
Model
WIDTHXHEIGHT(mm) WEIGHT (kg)

TE-1N 450X1,000 10
TE-2N 600X1,200 16
TE-3N 750X1,800 25
TE-4N 850X2,000 30

35



OHTORI KIKO

OHTORI KIKO CO.,LTD.

H Head Office & Factory;
19, Nanei-cho Tottori 689-1121, Japan. Tel. 81-857-53-4611
Fax. 81-857-53-4614
E-mail:otr@bronze.ocn.ne.jp

M Osaka Office
1-7, 2-chome Kikawahigashi Yodogawa-ku Osaka 532-0012, Japan. Tel. 81-6-6304-7676
Fax. 81-6-6304-5455
E-mail:otr-osaka@jeans.ocn.ne.jp

H Tokyo Office
2-17, 2-chome Sotokanda Chuyoda-ku Tokyo 101-0021, Japan. Tel. 81-3-3255-7971
Fax. 81-3-3255-7976
E-mail:otrtokyo @jeans.ocn.ne.jp
H Branches

Nagoya, Hiroshima, Fukuoka, Sendai

2006.08



